Dividing Money (B)

—_

i

10.

Calculate each quotient.

44 ) $1870.00 2. 76 ) $2067.20 3. 50 ) $2430.00
44 ) $3665.20 5. 28 ) $1618.40 6. 55 ) $2942.50
72 ) $3650.40 8. 15) $1317.00 9. 20 ) $1006.00

If 86 identical backpacks cost $2812.20, how much did each backpack

cost?
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Dividing Money (B) Answers

10.

$ 42.50

44 ) $1870.00
—$1760.00
$110.00
—$88.00
$22.00
—$22.00

$0.00

$ 83.30

44') $3665.20
—$3520.00

$145.20
—$132.00

$13.20
—$13.20

$0.00

$ 50.70

72 ) $3650.40

—$3600.00

$50.40
—$50.40

$0.00

Calculate each quotient.

$ 27.20

76 ) $2067.20

~$§1520.00

$547.20
—$532.00

$15.20
—$15.20

$0.00

$ 57.80

28 ) $1618.40

—$1400.00
$218.40

—$196.00

$22.40
—$22.40

$0.00

$ 87.80

15) $1317.00
—$1200.00

$117.00

—$105.00

$12.00

—$12.00

$0.00

$ 48.60

50 ) $2430.00
—$§2000.00
$430.00
—$400.00
$30.00
—$30.00

$0.00

$ 53.50

55 ) $2942.50
—$2750.00
$192.50
—$165.00
$27.50
—$27.50

$0.00

$ 50.30

20 ) $1006.00
—$1000.00

$6.00
—$6.00

$0.00

If 86 identical backpacks cost $2812.20, how much did each backpack

cost? $32.70
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